SPC-L3-242(1/7)

SPECIFICATIONS

MITSUBISHI HIGH SPEED DIESEL ENGINE
MODEL MITSUBISHI L3E-63SPH

For MEE
(POWER UNIT STANDARD)

For reference only

ENGINEERING DEPARTMENT <
% <€

tﬁ( S\ L
# ._:i\\t i
En ¢ s, v ¥

DATE May. 12. 2000

MITSUBISHI HEAVY INDUSTRIES, LTD.

DATE APPROVED | CHECKED I_ DRAWN |
2005/7/27 | {/ mya:n‘a;ok | |
2002/1227 | T, fareend® 2 Mopore | BT
 2002/5127 i




Revised recayd

SPC-L3-242(2/7)

No.

Date

Items

Old

New

Remarks

(98]

2005/7/27

Specification sheet form change




1. Principal Particulars of Diesel Engine

General Specification

Standard

Model

Regulations

Type

Number of cylinders

Bore x Stroke

Piston displacement

Compression ratio

Rotation

Firing order

Engine weight(Dry)

Dimensions(Length)
(Width)
(Height)

Inclination(Continuous)

(Temporary)
Fuel

Lubricating oil
Engine performance

Rated Power ; without fan
with fan(for ref))

Rating tolerance

Fuel consumption

Tolerance

Low Idle

High Idle

Rating conditions

01l consumption
Fuel injection timing
Mean effective pressure

Piston speed

SPC-L3-242(3/7)

All items, unless otherwise specified, are in accordance with JIS

and maker's standards
Mitsubishi L3E
(Mitsubishi L3E-63SPH)

(MHI No. 30L00-05180 1/2-chg3, 2/2-chg3)

No emission type

4 cycle water-cooled, vertical overhead valve, cylinder in line,

swirl chamber type
3

76mm x 70mm
0.952 liters

23:1

Anti-Clockwise rotation as viewed from flywheel side

1-3-2

Approx. 83kgf
Approx. 505mm
Approx. 418mm
Approx. 500mm
25°

30°(Max 30 min.)

ASTM diesel fuel oil No.2-D(JIS K2204 gas oil specification

No.2 or 3)

API classification service CD class

Rating

Breaking in around 50hr

15.8kW{21.5PS}/3000rpm

14.7kW {20.0PS}/3000rpm

+5% of nominal

280g/kW-h{206g/PS-h} .
+8%

900(+50,0)rpm

3200(+30,-10)rpm

ISO 3046, without fan

Rating at delivery

Breaking in around 0.25 hr

15.0kW{20.4PS}/3000rpm

14.0kW{19.0PS}/3000rpm

+5% of nominal

308g/kW-h{227g/PS-h}
+8%

Total barometric pressure:0.1MPa

Air temperature :298K
Relative humidity:30%

Within 2.7g/kW-h{2.0g/PS-h}

17°BTDC
0.62MPa{6.3kgf/cm?}
7.0 m/s at 3000rpm



Fuel system

Fuel mjection pump

Fuel injection nozzle

Governor

Fuel filter

Min. required fuel feeding head

Max static head of leak pipe(return)

Lubricating system

Lubricating system
Lubricating oil filter
Oil pressure

Oil capacity

Oil dipstick
Oil pressure switch

Cooling system

Cooling system

Engine water capacity
Cooling fan

Water pump pulley
Pulley ratio

Fan spacer

Water temp. switch
Thermo. Unit
Thermostat

Electrical system

Alternator

Voltage regulator
Regulator set voltage
Alternator pulley
Starting system
Starter motor

Glow plug

Engine shut off system

SPC-L3-242(4/7)

BOSCH type

Throttle type

Mechanical centrifugal type
Filtering paper type

100mm

200mmHg

Forced circulation by gear pump

Filtering paper type, full flow
0.29MPa~0.39MPa{3~4kgf/cm2} at duty run
0.098MPa{l.0kgf/cm2} min. at low idling

3.6 liters (Oil pan 3.1 liters, high level,Oil filter etc. 0.5 liters)

Standard dipstick
Yes

Forced circulation of fresh water by centrifugal pump with
thermostat

Approx. 1.8 liters

Yes; 320mm diameter, suction

PCD 87mm

1.26 ( Crankpulley : Water pump pulley = 110 : 87)
No

Yes

No

Open at 76.5deg.C - full open at 90deg.C

12V - 40A

IC type (Built in alternator)
14703V

PCD 65mm

Electric starting
12V-1.7kW

10.5V,9.7A

Electric solenoid (ETR)



Ininke snd Exhaust system

Intake mamifold(cover)

~ Exhaust manifold

Induction Resistance
Exhaust Back Pressure

<Remarks>
Engine color
Flywheel
Flvwheel housing
Side gear PTO

SPC-L3-242(3/7)

Upper side way

Side way

Max 1.96kPa{0.2mH:20}
Max 6.57kPa{0.67mH20}

Black(MHI standard color)

SAE#6.5(thin type)

SAE#35 (thin type)

Allowable torque 15.6N-m{1.59kgf-m} total of front and
rear,Clockwise rotation as viewed from flywheel side, Gear
ratio 1:15



2. Accessories ( Loose Supply )

SPC-L3-242(6/7)

CHG

L)

Parts Name Parts No. Q'ty Remarks
1 |SWITCH.OIL PRESSURE 31A90-00600 1
2 |SWITCH, THERMO MM432-104 1 Attached To Engine
3 [SOLENOID ASSY 30A87-10042 1

A4
A4
A4



SPC-L3-242(17/1)

MITSUBISHI DIESEL ENGINE
MODEL L3E-63SPH
PERFORMANCE CURVE

WITH FAN
55
T
— B ==
0o
I g
\

15

10 ////

(kW)
N

OUTPUT

7
L/
/
==
200 £ =
g 280 S =
\\\~\\\\\\~ 210 —
] 260 =
250
1000 2000 3000
LOW IDLE ENGINE SPEED (rpm)

900*2%r pm NL/3200%33rpm

SO 3046 Total barometric pressure : 100kPa
Air temperature . 298K
Relative humidity : 30%



LABEL, MITSUBISHI

ENGINE HANGER

12
156. 2

LABEL, ENG NO.

GLOW PLUG
3-M4X0. 7

(TIGHTENING

TORQUE 1~1. 5N+-m)

83
122.5
171

THERMO SWITCH-E 2 .
Po. (JIS D 5403 PA) ¢ —A) 283. 5

- —¢ ()

265. 5x = jﬁﬁ?ﬂhf%=
OlIL FILLER CAP QXTI o]
; N/AL ST
o | ' ;?z:»- = ! _ 180
131. 45 \ fgl*\ & B X {:E;
' A2 4-M10X1. 25 - 9/ \r_./ e \ T 5 0
1 _ . : . ] 35. 5 DEPTH 17 ) ~ Lol ! /_ \\)2215 / [ J_7‘§
ig)ﬂ% ) g ) > - O ~ {& 16 0%/ 3}
AN(56. 1) Y~ AT ] 75 XL £ X | : 3
\ ”'//// 8-M10X1. 25
4-M10X1. 25 aa 181.2 FROM Q¥ S z;;;;Qé? THROUGH (6-MARKED %)
DEPTH 17 | v ENGINE CENTER %%.3 T DEPTH 17 (2-MARKED %)
| g4.iI ///, s ! 183 214.2 FROM k &~ EQUALLY SPACED
2 - < ENGINE CENTER _ . 6-MBX1. 25
- « S 9.0 DEPTH 14
Y
FUEL OUTLET-H ¢Ml SPEED CONTROL LEVER J + - d
FUEL INLET-G6 PR = STOF LEVER S VLEW
P s < g INJECTION PUMP
ENGINE NO.
AIR VENT SCREW
é ENGINE HANGER EXHAUST OUTLET-D
< - WATER OUTLET-C g = FAN
< - - o S22 o o o - o (SUCTION TYPE $320)
FUEL FILTER ~ ooy - — ~ - - e ~oo< i = Z
AIR FLOW AIR INLET-B 2.3 j ALTERNATOR STARTER
CONNECTOR OF STOP SOLENOID-F e W T | (12V-40A 1C REGULATOR BUILT IN) (T2V 0 7KW
@ e A
WATER DRAIN PLUG - al B ' Sl [ 2 N
(1/4-18 NPTF ACROSS FLATS 14) SNy ' $TT.3 321.5 = IA}
N(262.2) 4 ! = B 274.5% 267. 557 = b % 263
. , | M) : - ! ' hdV:s > |
217.5 W B I - 2168 IPNSLST ZZNN N ] 239. 5
- = -+ = 200. 6 gl D (S0 hi 200 [
T = % = ¥ S ::f 138 i
! gl coe 4 — © ; \\ N 7 ) 131 | < Mo
J | | ]
112.8 e T 6% |yl | 001 Gy AN - AN / = =
44 el . NS | 0IL FILLER cAP < A RNy E XY | =) g, ) so| |s-
g @&\9 i SE e (T @l rsaglarv v : =S g ;
04— - — A | S AN 1= 1 < . 04— - 08 OSSPl -~ 4o > o - A zlelzlel [y £
237 %EE? ©) ﬁg; VIR S| o 23 = NS = 23 23 i ] Sl e
51 Q_ré):,! g : e — =\ 1‘: | 51 I_Y he o A = 57 51 ~ N <
M16X1. 5 L N | N 7] ;7 s -
: ——
THROUGH /=] i . M §§ -
wtoxt. 25/ AT \ &) 178.5 | 1 K l [ 167. 9 :
DEPTH 17 < 6-M10X1. 25 ]
° DEPTH 17 1o
OIL FILTER [ i OIL LEVEL GAGE PTO CENTER L 102
L L L ) IR AR WATER INLET-A L L
boMiox1. 25/ ~ ... o T2 ZIZa X ST OlL PRESS. SWITCH-E POl ~T3Z2 °TI Z ‘“.
DEPTH 17 il mee % T T T3 (JIS D 5403 PA) . T - WATER PUMP ST T - o
= 05 3 OIL DRAIN PLUG 118 4-M10X1. 25
(M18X1. 5 ACROSS FLATS 19) DEPTH 17

FOR MEE(63SPH)

AN
N3060-7602[02.12.27[R. T0UGE @g L3E ENGINE ASSY

N3060-7190002. 5. 278 TOUGE———
| 3060-5986/00. 2. 1(R. TOUGE RE SCALE CEBEIEKRASH AEAK  -BHEBSELS

(S GENERAL WACHINERY & SPECIAL YERICLE HEADQUARTERS. NITSUBISHI HEAYY INDUSRIES,LID.

CHG EO-NO DATE CHK

= %X mE  (MsH) &
APPD CHK T YAMADA |P"NA. TOUGE | NEES 1
65;#%25;ZZ£E7 A. SAMATA K TAGAMIY 30L00-05180
1998. 9. 8 ‘ 2
3 ¥ LES ? BEBRMEES 3 HwEEIES 4 HUR
OL:HENEN (D Bz ;5 DS b 2Ol (BAR)

YA



Fr—— I i —
YA
H-DETAIL G-DETAIL

S-TERMINAL-E

(JIS D 5403 PA)

B-TERMINAL
M8X1. 25
(TIGHTENING

TORQUE 10*2N-m)

==
\g‘(

T D>
KT

19°

A\
AY-VIEW(:2)

B-TERMINAL

PULL

HOLD

BLUE

M5X0. 8

F-DETAIL

g=105"" B -

E-DETAIL

7222-6234-40 (YAZAK 1)

E-TERMINAL

M5X0. 8

Y,

(JIS D 5403 PA)

s L&R CONNECTOR
CONNECTOR EQUIVALENT T0
@ 7322-2128 (YAZAKI)
TO MATE WITH
Qg 7323-2128 (YAZAKI)

P-CONNECTOR
CONNECTOR EQUIVALENT T0
7322-2215 (YAZAKI)

N TO MATE WITH
7323-2215 (YAZAKI)

X=VIEW(1:2)

67

STOP

RUN

/3N

2

2

# 4-M8X1. 25
' STUD
| ¥<// $29 B 4420
N O @ 32 |
) L A
=1 y I
; _@—/ l - | —)
© | | ¢ 28 q $ 410 L __ . .
@ l - ] | - e
g y&
5 0¢t0.2 . L/ \'A
S
67 i
D-DETA I LC1:2) C-DETAIL B-DETAIL A-DETAIL
INV. SPLINE $14X12X] ¥°
—_ J-J
I
o0
. _ (16.5) 12°
o >
he =1 "— < 21
e B )(FO‘] = ) / )
=+ ) ] “_J //
°y = | _?_GC)EJ - i ’ =
__Ludr_,[_ =z f?
D
4-M8X1. 25 4 : 18 _
STUD - _ :y
63.5%0.2 21 ,
4 —
DIRECTION OF ROTATION 130 FROM 9137. 9 Z
GEAR SPEED:ENG. SPEED=1. 154:1 ENGINE CENTER '
80
K-VIEW(1:2)
///?¢ ,p)?;:
NS N\ A\ & IDLE -
g So =1
/9 B . o
7 5 =G - — O\ - _ - - N
A : 1= T B )
< W'I H - 3
3 eam! | Z
| il =
</ [ il J 3-M10x1. 25
\Low IDLE SET BOLT DEMH}e
226 FROM
HIGH SPEED SET BOLT ENGINE CENTER
SPEED CONTROL LEVER
3-¢6. 501 V-VIEWI((1:3)
STOP LEVER
6. 5£0.1
W-VIEWC(1:2)
FOR MEE (63SPH)
o A
N3060-7602002 12 27 Touee| swee | L 3E ENGINE ASSY
N30G0-7190(02. 5.21 R TOUGE
! 3060_598600 9.1 RIOUGE RE SCALE E%Elﬁﬁiﬁﬁﬁ ﬂﬁﬁ%‘ﬁ$$¥$gl}
" " o o (I COUERAL NACRUNERY & SPECIAL VENICLE WEADUARTERS. WITSUBISHI HEANY INDUSTRIES, LI,
2o %X #X (MSH) .E§
APPD CHK T YAMADA DRN A, ]'OUGE -,‘='5
65;#%%E;Ziéi> A SAMATA K TAGMIY L o 30L00-05180

3 #H X
()Eym

A

42 N
N O): 1 T

12 BIBEES 3 RTERL 4 HLS

6 Zofh (BASZ)




'P50’ EAH

MARK:PSO\\
- T (41,5) o)

"”-—' o 241 6.4

R M4eX0. 7

0

27

19.

3.91
A 5 J1§5 D 5403 PA
o8
SPECIFICATIONS
EH & 7
PTG paess. | 4dkPall. Sket/cnt
F 9 3 L TIV-5W
DNM%MJNL 24 -3V
g E 2
CONNECT 10N b (—T—O— )
HBEAA Y F

SWITCH, OIL PRESSURE

31A90-00600




[

19

J1S D5403 PA

23.

2
]
MI6X1.58 )/ = I 7
g18.17
g
SPECIFICATIONS
k3 3 11143T
OPERATING TEMR  ON-OFFE 8%3.5T
ON-0FF OIFFERENCE 8£3.5T

% | B8 =
CURRENT CAPACITY 0.25A, MAK.
€ 2 8 =
CONNECTION 3 (—oo—)

Y-TAS/ VT

SWITCH, THERMO MM432-1014




8)

(163.

STROKE,

BLUE

7222-6234-40 (YAZAKI)
TO MATE WITH
30A87-00600 (MHI)
7123-6234-40 (YAZAKI)

13.5
103 .
86. 5
! by
] = -
M30X1.5
PULL
e
HOLD
=1
o
DETAIL OF CONNECTOR RED WHITE BLUE
CONNECTOR EQUIVALENT T0
2 8 8
WIRING DIAGRAM
t #B
SPECIFICATIONS
TR B
RATED VOLTAGE DCrav
T F T - 7
EEFECTIVE STROKE 13.5¢0.5mm
z & % % PULL :© 50A
TATED CURRENT HOLD : 1A
O N B

ALLOYABLE AMBIENT TEW

-40C~+120T

VUIAETYY

SOLENOID ASSY

30A87-10042






